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1. Look at this series: 53, 53, 40, 40, 29, 29, ...
What number should come next?

A 12 B. 14
C. 20 D. 53

2. Highest Dam-in world is

A. Hirakud Dam on the B. BhakraNangal on

river Mahanadi- river Sutlej
Odisha

C. The - Grande D. None of these
(Switzefland)-

3. Which colour’is produced by adding together
yellow and cyan

A Green -~ B. Red

“C. Blue D, Pink

. 4. Which country is the world's fargest producer

of coffee
A. India B. UK
C. Brazil

D. Switzerland

4, Which number replaces the q'uestion mark?

3 gl 1 5
AEAE: 5|73
4 1§ & B |
9 5
21 ?
& 3

AT ) B. 5

C. 3 D. 6

6. What was the United States largest single land
acquisition -

A. Llouisiana Purchase B. Garsden Purchase

C. Alaska D. Mexican Cessation

7. Which is the outermost planet in the solar

system? L
A, Mercury B. Pluto

C. Neptuhe »-  D. Uranus

8. Long-sight defect could be corrected by using

lens. - :
A. Concave o B. Co.nvex
C. Diverging D. None of these

9. A device which converts chemical energy into
electrical energy is'called

A. Moter .. B, Generator
C.” Moving-coitmeter D. Battery
10.The Sunisa __ ..

A.  Star B. Galaxy

C. RedGiant D, Black Hole

11, Deficiency of Vitamin-D results in

A. Nightblindness . B. Rickets

C. Scurwy . D. Hairfall

12. CNG stands for?

A. Convered Natural B. Conduced Natural
Gas Gas

€. Conducted Natural D, Compressed Natural

Gas Gas’
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13, Urine is produced in

A.  Kidneys | B. Lungs

C. Llarge intestine D. Liver

14, Which number replaces the question mark?

7113118 l]z2

2 [1sf]s]]|a

A. 6 - B. 8

C.- 3 D, 4

15. The pl.anets' visible fo us without using a telescope
are ' '

A, 3 - B, 4

C. 5 o D. 6

16. Meteorology is the study of?

A, Seasons B. Afmosphere

C.. Airand sounds D. Winds and clouds

17. The gas, commonly known as “laughing gas”, is

A. Carbon Dioxide B. = Sulfur Dioxide

€. Nitrous Oxide - D. Sodium Oxide

18. Pick the best one to fill-up the blank
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19. The-t_h_eor\/ of economic drain of India durihg
British imperialism was propounded by

A JaWaharlaI Nehru B. DadabhaiNaoroji

C. R.C.Dutt D. M.K Gandhi

20. In a 100 m race, A-can beat B by 10m and C by

28m. in the same race B can beat G by: -

A. 18m o B. 20m
c. 27m D. 9m

21. In. what ratio must a grocer mix two varieties of
* pulses costing Rs. 15 and Rs. 20 per kg respectwely 80

as to get a mixiure worth Rs. 16.50 kg?

A 37 B. 5:7

c. 7:3 D. 7:5
22. Who s the father of Geometry?
A Avistotle B. Euciid

C. Pythagéraé D. Kepler

23. Which is a ftype of Electically-Erasable
Programmable Read-Only Memory?

A, Fash B. Flange
C. Fury D. FRAM
Pagé 5o0f32

FEEERE




24, YVBTETOT emgdﬁdgi 283 a5eed m—aﬁa_}‘aﬁg{ 0029

25. == a:’@‘%aeﬁo@ foelalaavlay)
Creelerss BVRM08 Eobodind
?de.)aé’ics oroelen’ Aog Golobil

St ool SBedineg c‘\‘)asmﬁzgeg, 2302056
medFodn

&,. &’)?smcfd% 29, f\'b%;g

) eddE & 28 ausde

26, B08E® womh mPad [eblox), oe. 4,700/ g

00e0™, s BxleBr G B800/— ri“#rd} e

BREES, & Rtios da. . 5800/ & aeoed) ¢

BRRTIE, 3D 2 mtr oz 551765

4 .
& 4y B 5 g
4?/’0 511/7‘

R 109 8 19

27 [UD I sheoch éab ﬁaﬂwﬁvm md’&}md’.'

@ﬁd)ﬁ% adedond

Doomuct  abd . ebobee®  abe
SEoahodueat | 2aT00Reos

EIE A e By B c3mochiest el
WEEROeTE B3 Ewons®

28, TP a.:odrd OITBI SN 20T

. irewshe 2. s

b S &, “m‘ox:"5 ]

)

|

29, TR BoR B pomned suekdmens ma Cabass

Bob” % A,
E R oS 2). weel aimesd
& e0Th MWD B G, @ODTTN Hes®
2%ad  esdead mwaﬁmrd§
smda® BRvlomens
merdaboh

30 eveshand m)@:‘dajcd} esBd; gwmed esaria)"ed& 3020

-;h%-f
o

Rorid 1 depy wmctoniénd b iy
T[ONS 2. 3@)@ [nleusatrel é&&i)@ﬁ) ae?i
DO 3 Fesy mectureh Bal) alesPDC el "sc’ao:a”cﬂ

BeCo e oSeddnwd ""3 moﬁ@cﬁaaﬁdcﬁ
odmas TePFoie = N“Z’g moﬁ@&fﬂaﬁﬁ

gt

l, Bee3e0 'aag E0TEIED DCY @eolrysh Sab@
wbwEmess fed sorwess.

I, Zsesen =g aTR0eS Tealinivrl Ldes o :
. tmes o weos acbrisd Bat) oesEess |
Be8 memade

2 i By Dl awy

?_a

I soey Il amg B sedSsy anggech we

Page 6 of 32



Jer

24. Pick the best one to fill-up the blank

25.-  Tanya is  older than  Salman.
Ranbir is older than  Tanya.
Salman is older than Ranbir.

If the first two statements are true, the third

statement is

A. True B. False

€. Uncertain B, All of the above

26. Venkat buys an old scooter for Rs. 4700 and spends

‘Rs. 800 on its repairs. If he sells the scooter for Rs.

5800, his gain percent is: -

: 5.
A. 4ﬂ°a o ‘ B. 5%
‘ 7 1.
C. 10% - D, 12%

27. Two of the great Mughals wrote their own
memories. There were

A. Babar and Humayun -

B. 'Hurnayun and Jahangir '
C. Babarand Jahangir
b

Jahangir and Shahjahan

28. The language of discourses of Gautama Buddha
was |

A. Bhojpuri  B. Magadhi
C. Pali D. Sanskiit

29. The ferm ‘'Yavanapriya'’ mentioned in ancient

“Sanskrit texis denoted

A, lvory -
B. - Pepper _
C. Afine variety of Indian muslin

D " Damsels sent to the Greek court for dance
" performance

30. Pick. the best one to f H -up the biank
@ s;g;w ;

31. Fact 1: All dogs like to run.
Fact 2: Some dogs hke to swim.

Fact 3: Some dogs look like their masters.

If the first three statements are facts, which of
the followmg statements must also be a fact?

1. All dogs who like-to swim look Iike their masters.

il Dogs who like to swim also like to run.

it Dogs who like to run do not look like their masters,

A, Ionh} ‘B.. Honly

None of the statements

C. lHandlitonly . D, is a known fact.
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33. Choose the picture that would go in the
empty box so that the two bottom piciures are
related in the same way as the top two. are
relatad.

{1}
A1 B. 2
C. 3 ' D. 4

34. A four-person crew from Classic Coiprs.is
painting Mr. Venkat’s house. Raman is painting
the front of the house. Vinayak is in the alley
behind the house painting the back. Vaidehi is
painting the window. frames on the north side,
Subbu is on the south. If Raman switches places
with Vaidehi, and Vaidehi then switches places
with Subbu, where is Subbu?

A. Inthe alley behind the house
'B. On the north side of the house
C; in front of the house

D. On thé south side of the house

35. Ms. Rekha likes to let her students choose
who their partners will be; however, no pair of
students may work together more than seven
class periods in a row. Aadit and Bashir have
studied together seven class periods in a row.
Caramat and Divakar have worked together three

class periods in a row, Caramat does not want to

work with Aadil. Who should be assigned to work
with Bashir?

A, Caramat
B. Aadil
C.' Divakar

D. Rekha

-36. Energy can be convertad from one form to

another, but all'energy ends up as

A. Kinetic energy " B. Po‘égntia! energy

C. Heatenergy D, Chemical energy

37. Cur‘rent"is the flow of

A. Electrons B. Protons

C. Neu‘;rons D. Voltage

38. Between the melting point and boiling point
of a substance, the substance is a? B

A. Solid - B.. Liquid

€. Gas 'D.  Crystal

39.'As they prepare for the state championships,
one gymnast must be moved from the Level 2
team to the Level 1 team. The coaches will move
the gymnast who has won the biggest prize and
who has the most experience. In the last
competition, Roberta won a bronze medal and
has competed seven times before. Jamie has won
a silver medal and has competed fewer times
than Roberta. Beth has won a higher medal than
jamie and has competed more times than
Roberta. Michele has won a bronze medal, and it
is her third fime competing. Who will be moved
to the Level 1 team? ‘

A. Roberta - B. Beth

C. Michele' D. Jamié
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40. Fous friends in the sixth grade were sharing a
pizza, They decided that the oldest friend would
get the extra piece. Randy is two months oider
than Greg, who Is three months younger than
Ned. Kent is one month older than Greg. Who
should get the extra piece of pizza? =~

A. Randy B. Greg

€. Ned D. Kent

41, Statements:

“The prices of petrol and diesel in the domestic

market have remained unchanged for the past
few months.

The crude oil prices in the international market -
have gone up substantially in the last few months.

"~ A. Statement | is the cause and statement ilis
its effect

B. Statementilis the cause and statement 11s
its effect

C. Boththe statements {and H are
independent causes

D. Both the statements | and Il are effects of
independent causes .

472, Pick the best one to fill-up the biank

i
= F

43, The territory of Porus who offered strong

resistance to Alexander was situated between the
rivers of

A. Sutlej and Beas B. Jhelum and Chenab

C.  Raviand Chenab D GangaandYamuna

~C. -Watson and Crick

44, The device used te convert Alternate Current
into Direct Current is called

A, Anemometer. B. Battery

C. -Galva_nomete-r_ D.  Rectifier

45. A person seated in front of a fire receives heat
by . ‘

A, Cond_uction' o B. Convection

€. Radiation D. Noneo.ft'hese

46, Molécules with identical molecular formulae

but with different structural formulae are called

A. Isotopes VIB. tsomers

€. Electrode D, Compound .

47, Thé entropy éf the _uni\ferse_ is

A. Increasing o B. Decreasing

€. Constant = ‘D. Noneof these

48. DNA structure was first described by
A. Pasteur . B. RobertKoch

- D. Carlous linnaues -

49. What nrumiber comes iﬁsider the- circie? '
09000
0050 0O00N

OE@E)
@G
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50. Breeding and management of bees is known

A- Agriculture B.  Alliedculture

C. Stoiculture_ D.  Apiculture

51, Malaria is caused by

A, Mosquito B. Plasmodium

€. Virus . D. Bacteria

52. How many. tlmes are the hands of a chck at

right angle ina day?

A 22 B. 24

C. 44 . D. 48

53. It is very serious dlsease of braln whlch is

© caused by fung

A. Ring worm - B, Meningitis

C. Hepatitis " D. None of these

54. Amoeba ‘froves in water with the heip of
focomotory-organs called

A. Tubefeet B. ' Cilia
C. Pseudopodia - D. Flagella

55. Which bone is called beauty bone in women

A. Sternum B. Clavicle

C. Maxilla - D. Radius

56. Pick the bes‘g_one to fiIE-up the blank

A Stocks : B.

57. 11 denotes the ratio of the _ to the

A. Area of a circle, circumference of the circle .
B. Areaof a circle, length of its diameter
C. Circumference of a circle, length of its radius

D. . Clrcumference of a circle, length of its
_ dlameter

58. The following are- the examples of fmanc:al
assets except?J

_ Bank Loan
C.. Bond _ D. Raw material
59. Statements:

The Reserve Bank of India has recently put
restrictions on few small banks in'the country.

‘The small banks in the private and co-operative

sector in India are not in a position to withstand-

‘the ‘competitions of the bigger in the pubilc

sector

A. Staternent lis the crause and statement 1l is
its effect-

B. . Statement ll is the cause and statement | is
its effect

o Bo_th the statements 'and Il are
independeht causes

D.. Both the statements | and Il are effects of
'|ndependent causes.
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60. Which of the following is used as a lubricant?

A, Graphite B, Silica

€. ron Oxide D. Diamond

61. The property of a substance to absorb

moisture from the air on exposure is called

A. Osmosis . B.. Deliguescence:

C. Efflorescence .  D. Desiccation

62. On a cold day when a room temperature is

15°C, the metallic cap of a pen feels much colder
‘than its plastic body, though both are at the same

temperature of 15°C, because

A. Metals have hlgherthermal capamty than
plastlcs .

B. Plastics have a lower density than metals
C. Metals are good conductor of heat

.D.  Plastics have a higher thermal conductivity -
than metals '

'63. If x and y are positive integers and 17xy=1734
.what is the average of xandy .

A 17, B 18

C. 115 "D. cannotbe determined

64. The school .principal has received complaints
from parents about bullying in the school yard
during recess, He wants to investigate and end
this situation as soon as possible, so he has asked

- the recess aides to waich closely. Which situation
. should the recess aides report to the principal?

A, Agirlis sitting glumly on a bench reading a

book and not interacting with her peers,

B. Four girls are surrounding another girl and
" seem to have possession of her backpack.

~ €. Twoboys are playing a one-on-one game of
basketball anhd are arguing overthe last basket
scared.

D. Three bays are huddied-over a handheld video
game, which isn't supposed to be on school
grounds.

65. The hardest subs_tance available on earth is
A. Gold B. lron
C. Diamond D. Platinum

6'6_. Which number replaces the question mark?

67. A watch which gains.5 seconds in 3 minutes.
was set right at 7 am. In the afternoon of the
same day, when the watch indicated quarter past
4 o'clock, the true tlme is:

7 o
-A, 5915 min. pasch' B. 4 p.m.

-7 3
C.. 58— min,past3 D. 2~ min. past4
il 11
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A Laissei-faire

63. The chairmanship/presidency of the UN
Security Council rotates among the Council .
Members

A, Every & months ~ B. Every3months

o8 Ever\/\/e.ar- p. Every month

69. Which playing card replaces ‘the qUestion'

mark?

A. 9 S . B 9%

C. Ak

70. Guarantee to an exporter that the importer of
his goods will pay immediately for the goods
ordered by him, is known as : :

B Letter of Credit
Ve

C. e-Payment D. None.of the above

 71. Golf player Vijay Singh belongs to which

country?
A, Eijt B. " USA
o, UK

€. india -

72. The czone layer restricts

A. Infrared B. X-rays and gamma
radiation rays
€. Visible light D. Ultravioiet radiation

" A, Perambur B.

3. Film and TV institute of India is located at

Rajlot (Gujarat)
(Tamil Nadu)
€. Pune _ D. Pimpri
(Maharashtra) (Maharashtra)

74. Which number replaces the questions mark?

i

8 l13]

161 6

s fio
A4 | B. 2
c s © D. 12

~ 75. Eugenics is the study of

"B. Different races of '
mankind o

A. Peopieof
European origin

€. Human genetics . * D.  Plant genetic
76. GATT (General Agreement on Tariffs and

Trade) is

A. Agreement which seeks to achieve its aim by
" arranging and encouraging bargaining with
“trade concessions between members

B. International agreement signed in _i947
hetween non-communist nations with the
object of encouraging international trade
unobstructed by tariff barriers

€, BothoptionAandB

D. None of the above
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€. High melting

© G Gen. K.M.

77. For safety, the fuse wire used in the mains for
household supply of electricity must be made of
metal having

A. High fesistance B. Low resistance

© B. High tensile
point strength

78. Who was the first Indian Chief of Army Staff of

. the Indian Armv?

Gen. Maharaja

A. Vice-Adiniral - B.
" R.D. Katart RajendraSinghji -
D. Nohré of-the above

Cariappa

79. Pick the best one to fill-up the blank -

B e S L

80. Golden Temple, Amritsar is india’s

A. Oldest B.
Gurudwara '

Largest Gurdwara

C. Bothoption A |
and B are correct

. None of the above

81. Filaria is caused by

A. Protozoa B. Bacteria .

C. \irus D. None of the above

¢, Periscope

82. For séeing abjects at the surface of water from a
submarine under water, the instrument used is

A. Telescope. B. Spectroscope

D.  Kaleidoscope -

83. The cost price of 20 aftlcles is the same as the
selling price of xartlcies If the proﬂt 15 25%, then the
value of x is:

A. 15 S B. 16 -

. B . 25 -

84. Permanent hardness of water may be removed by
the addition of

A. Sodium carhonate  B. Alum'

. Potassium D, Lime -

permanganate

85. Most soluble in water is

A. Camphor - B. Sulphur

C. Co_m:rnon'sait- D. Sugar

86. For which of the following dlscmhnes is Nobel Pnze- :
awarded?

_ A. Physics and Chemzstry

B 'Physmlogyor Medicine.

€. Literature, Peace and Economics

. - All of the above
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87. Exposure to sunlight helps a person.improve
his health because

A, The infrared light kilis bacteria in the body

B. Resistance power increases

)

-G, The pigment cells in the skin' get stimulated and
produce a healthy tan

‘D, The ultravioiet rays convert skin ol into Vitamin D

88. The members of the Rajya Sabha are elected-

by
sy, : . :
,j{; . A. The §3eopiej

B. Lok Sabha.
C. Elected members of the legislative assembly

D. Elected members.of the .legisiativecouncil

89; The power to decide an election petition for
Parliamentary elections is vested in the

27 : A, - Parliament - B. Supreme Court
C. High courts, - D. Election ‘
' - Commission
90. The present Lok Sabha is the

@b A 13thlokSabha ~ B. 14th Lok Sabha
23 :

o

C. .15th Lok Sabha D. 16th Lok Sabha

91. Pick the best._one to fill-up the blank

v
Fii

]
«
l

32

92, The members-of LokSabha hold office for a
term of

A. 4years B. 5years

€. 6Gyears . . . D. 3years

93. The minimum age to quahfy for election to the
Lok Sabha'is

A 25 years _ B, 2lvears
C. 18 years = - D. ‘35years -
94. The power of Supreme Court of ‘India to

decide the dispute between the centre and states
falis under its

A, Advisory B 'Appellate-
- jurisdiction jurisdiction -
€. Original . . D, Constituti_o'nal‘

jurisdictior\_ . jurisdiction

95 'Tea;hers Day is observed on Whlch of the

date? o o
. A. SeptemberS B January 30
c. Novérhb"er 14 D October 2

' 96, What is the name of the CalTech se15moiognst _
‘who invented the scale -used. to ‘measure thef_'- . :
- magnitude of earthquakes?

A. . Charles Richter B. Hiram Walker

C. Giuseppe D. Joshua Rumble
Mercalli '

97. Which of the following is used in pencils?

A, Graphite o B. . Silicon

C. Charcoal D. Phosphorous
98. Chemical formuila for water is

A, NaAlO,  B. H0

C. HO3 . D. WazTezRg )
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99, |f 24 men eat dinner in 1 hour and 20 women
eat dinner in 45 minutes; then in how much time
17 men and 10 women together shall eat dinner

A, 12 hours B. 19 hours 30 minutes

C. 1hour D. . 45.minutes

100, Which number replaces the guestion mark?
T

A 3 ' B. 4

c. 1 ' D. 7

- 104, Superconductors are substances which

A. Conduct electricity at low temperature
B. Offer high resistance to the flow of current
C. Offer no resistance to the flow of electricity

D. Conduct electricity at High temperatures

102, Escape velocity of a rocket fired from the
earth towards the moon is a velocity to get rid of
the

A. Earth's gravitational pull
B. Moon's gravitational pull

C. Centripetal force due to the earth's rotation

.D. Pressure of the atmosphere

103. India has largest deposits of in the
world.

A. Gold B, Copper

€. Mica

D. None of the above

104. How many Lok Sabha seats belong to
Karnataka?

A, 32 8. 26

C. 25 - p. 28

105. In which year, terrorists crash two planes - '
into - New York's World Trade Centre on

September 11 in a.sequence of destruction?

A. 2002 B. 2001

C. 2000 - D. 2003

105. How much districts are there in Karnataka?

A, 25 B, i3

c. 30 - - -D 31

107. Pick the best one to fill-up the blank .
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A Lek

¢ Shiling -

A. Allotropes B.

B o8 |somorphs ' D

108. When an iron nail gets rusted, iron oxide is

formed

A, Without any chénge in the weight of the nail
B. With deﬁreasé in the weight of the nail

€. With increase-in thé weight of the nail

D. Without any change in colour or weight of

the nai}

109, Galvanised iron sheets have a coating of
A. Lead 8. ‘Chromium

C. -Zinc D, Tin

110. § March is observed internationally as?

A. Women's Day B. World Water Day

C. World Health Day  D. Human Rights Day
111, The monetary-unit of Bangladesh is

B. Taka

D. 'K-yat

112. Heavy water is

A. Deuteriurﬁ oxide B. PH7

€. Rain water "D, Tritium oxide

113, Cérbon,' diamond and graphite are together
called

Isomers

Isotopes

“A. Work

114. Which number replaces the guestion mark?
e i
A A

N
,/12_\ ) 4\
-7/ \\9 -gif/ 4

115. One Jouteis'equal to
A. 10°ergs B. 10%ergs

C. 10 ergs - D. 10%ergs

11s. Kilowatt is a unit to measure

. B. Power

€. Electricity - D. * Current '

117, Toiképpiyam is associated with the
) A.  First.Sangam pe'riod B. Serc_ohd_Sangam-period

€. Third Sangam period 1p. Postthird Sangam period

- 118. The absorption of ink by blotting paper

involves

. A, Viscosity-of ink

B, Capillary action phenomenon
C. Diffusion of irik thro_ﬁgh the blotting

D. Siphon actio.n
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_ C. Ught T _ DT

" identical dlmenswn?

119. The Vijayanagara ruler, Kirshnadev Rayas
work Amultamalyada, was in

A, Telugu B. Sanskrit -

€. Tamil 7 0. Kannada

. 120, L|ghtyear isa untof

A T;me _B.. Distance
Intensity of light

121, I\/ietals are good conduc‘cors of electric:lty
because

A. They contain free electrbné_
B. The atoms are lightly packed.

C. They ha\fé.high melting point

B, All of the\a,bove

122..0ut of the following pairs, choose the pair in
which ~ the physncal guantities do not have

A. Pressure ahd Young's modules

B, Planck‘s'coris;tant'an_cli Angular momentum
C Impulse and moment of force

linear

D. Force and rate of

momenium

change of

y 123, Pick the best cne to fill-up the blank

k
ik f

Tk
e IH

- A, willincrease B.

C. Telecommunication D,

A. Import of goods B.

124, 1CICY is the name of a

A. Bureau B. Corporation

C. Chemicalindustry ©. Financial institution
125. 4 ali the banks in an economy are
nationalized and converted inta a monopoly bank,
the total deposits.

will decrease

C. will neither increase  D. None_oftheabove‘

nor decrease

126. Inthe last ocne decade, which one arriong the

following sectors has attracted the highest forelgn
direct investment inflows mto India? '

‘Chemicals other than
fei”_cilizers_ -

A, Services sector B.

Food.processing
127. If the cash reserve ratio is lowered by the

RBI, its |mpact on cred;t creatlon will be to

A, No |mpact B. Decreaseit *

C. - Increase it o D. None of these

- 128. Debenture holders of a company are its

A. - Shareholders _B. Creditars

C.  Debtors o D. Directors

129. Excise duty is a tax levied on the

Expo-rt of goods

C. Saleof goods D. Production of goods

130. A pupil's marks were wrongly entered as 83
instead of 63. Due to that the average marks for
the class got increased by half {1/2). The number
of pupils in the class is:

A. 20 ' B. 73 .

C. 40 b. 10
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143. The Earth surface is divided in - 149. The availability of cash and other cash-like
Continents. o marketable instruments that are. useful in
A 5 ' _ B. 6 . ' purchases and investments are commonly known
as .
c. 7 D8 . A Marketabi{i'ty-- - B. Cash flow
144, World War Il was began in? o G Cedit. . B Lguidity
A. 1935 B. 1937 : , : |
TR B - _ ' 150. Which number replaces the question mark?
remy & 1939 b 1541 alzis|7] [1]o|la|8}
145, The social network site "Twitter” was e E 6 RS RN
- launchedon ___ . 7 5i1i{5 |3 BT |z2ls]
A July 15,2003 - B. uly 15,2004 - .
C." luly 15, 2005  D. luly 15, 2006 2 Bl |[B]0 6@
| ' , ' ' 271 8| A4 5
146, From a pack of 52 cards, 2 cards are drawn. 7lalgly| 1gita #is
. i together at reandom, what is the probability of ) - _ :
? both the cards being kings? : A 0 ' "B, 4
A 115 B 25/57 ¢ o b, 7
C. 35/256 . D. 1221 '

147. Which of the fo]lbwing items would not

appear in a company’s balance sheet?

A. Revenue from sales of the company's . T ‘ _ :
products - _ _ oo ' _ 7 : o

B. Cash held at the bank

C. Total issued capital

- D. Value of stocks of raw materials held

148, Driest place in the world is
A. Death Valley {California)  B. -Sahara (Africa)

; C. Barmer (Rajasthan) D. None of these
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i Subject: General Paper | Time : 10-30 Alvito 1-10 PM
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Candidate Registration Number Question Booklet Details j
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1. Enter correct Registration Number in the Answer Sheet in the prescribed place without fail,
9. Enter the version code of the question paper in the answer sheet without fail.

3. Candidate should compuisorily sign at the specified place of the Answer Sheat in the space provided without fail.

DONTs

Till the bell rings at 10-40a.m: ‘
e Do nat remove the seal / staple present on the right hand side of this question booklet.
e Do not lock inside this question booklet.

e Do not start answering on the Answer Sheet.

‘ IVIPORTANT INSTRUCTIONS TO CANDIDATES
¥ The question hooklet contains 156G questions and all questions carry egual marks. .
Each question has 4 answers out of which only one correct answer has 10 he selected and marked in the answer
sheet. .
. After thé pell at 10.40 A.M, Question papes pin /seal be removed and start-answering the question paper.
4. In the next 150 minutes,
s . Read each question carefully.
o Choose one correct answer from out of the four avaitable options given under each question / statement. In
case you feel that there is more than cne correct answer, mark any one answer which you consider the best.
In any case choose only one answer for each guestion / statement.
s There is no negative marking for wrong answers.
« Completely darken / shade the relevant cirdle with a blue or black ink ballpoint pen against the question
number on the Answer Sheet.

Forrect Method of shading option (B) on the Answers Sheet is as shown beiow:

| O e ©

5. Please note that even a minute unintended ink dot on the Answer Sheet will also be recognized and recorded.
‘Therefore avoid multiple marking of any kind on the Answer Shesat.

6, Use the space provided on each page of the question booklet for calculation work. Do not use the Answer Sheet
for the same.

After the last bell is rung at 1-10 p.m. stop writing on the Answer sheet.

Hand over the answer sheet to the room invigilator as it is.

. The key answers on answer sheet converted to PDF format will be released in website
0. If you have any doubts in Kannada Version refer to English Version of the same.
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